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Guess Paper – 2010
Class – XII
Subject – Accountancy 
TIME -3 HRS                               
                   
MM 80

=====================================================================
General Instructions :—

1.
All questions are compulsory.

2.
This question paper contains two part A & B.

3.
Marks are indicated against  every question.

      4.
All parts of the questions should be attempted at one place

               PART A (Accounting for Not for profit Organisation, Partnership and Company)
1. Can we treat the balance of Receipt and payment accounts as income for that period?              1
2. Why Rent paid to a partner is debited to Profit and Loss Account whereas salary paid to partner is debited to Profit and loss Appropriation Account.                         .                                             1
3. If the amount of Super Profit is Negative, what does it indicate?                                                1
4. Why is premium on issue of debentures considered as capital profit?                                         1

5. A, B and C are partners in a firm sharing profit in the ratio of 3:2:1. B died on 1st April 2008.C, the son of B,is of the opinion that he is the rightful owner of his father’s share of profit, and profits of the firm be shared between A and C equally. A does not agree. Settle the dispute between A and C according to the Indian Partnership Act 1932.                                                                               1
6. The book value of Computer on 1.1.2008 is Rs 12000.One third of this computer is sold for Rs 1500 on 30.6.2008.Depreciation is to be charged on Computer @10% p.a.

Calculate the loss on sale of Computer. Show how the loss on sale and Depreciation on furniture will be shown in the Income and Expenditure Account.                                                                              3
7. Bk Ltd made the first call of Rs 2 per share on its 50000 equity share on 1.6.2008.Raj, a shareholder, holding 1200 shares paid the second and final call amount along with the first call money. The second and final call amount was Rs 3 per share due on 1.09.2008.Pass the necessary journal entries for recording the above using calls in Advance Account                                       3
8. Ekta Ltd issued 4000 13% dentures of Rs 1000 each payable as Rs 200 on application and Balance on Allotment after one month. As per the terms of issue the debentures are Redeemable at a premium of 20% after 4 years .Pass journal entries for the issue of debentures.                           3
9. Dinesh and Raghu formed a partnership on 1st April 2008.They agreed that out of profit            4

a) Dinesh should receive a salary of Rs 1200 per month


b) Interest on capitals should be allowed @ 10% p.a

                           c) Rs 20000 be transferred to Reserve

c) Remaining Profit be divided equally.

Dinesh contributed a capital of Rs 100000 on 1st April 2008 but Raghu brought in his capital of Rs 200000 on 1st July 2008. During the year Raghu withdrew Rs 500 at the end of every month for his personal use. Interest on Drawing was agreed on 6 % p.a.Profit for the year before any appropriation was Rs 240000.Prepare Profit and Loss Appropriation Account.
10. A,B and C are partners sharing profit in the ratio of 5:3:2.B retires and his share of profit is entirely taken over by A. Goodwill of the firm was valued at 12000 on B’s retirement. The balance sheet of the firm shows a Advertisement Suspense Account of Rs 20000 Pass journal entries and calculate New profit sharing Ratio.                                                                                                                4
11. .Jindal ltd forfeited 4000 shares of Rs 10 each for non payment of allotment of Rs 4per share and final call of Rs 3 per share .Out of these 1500 shares were reissued as fully paid up to a vendor of Assets purchased for  Rs 13500.Give journal entries in the books of the company                                                                  4                                                                                                            
12. a) Siva Ltd redeemed 4800 8% Debentures of Rs 100 each which were issued at par, at 110% by converting them into equity shares of Rs 10 each at a discount of 4 %.Journalize.

b) On 1st January 2008 ABC ltd had 1000 12 % Debentures of Rs 100 each. On 1st July 2008 the company purchased 400 own debentures at Rs 93 for the investment purpose and sold the same @ Rs 99 after few months. Pass Journal entries on the date of purchase and sale of debentures.                         6

13. From the following information, Receipt and Payment Account of Jain Society prepare Income and Expenditure Account for the year ending 31st march 2007 and calculate capital fund on 1st April 2006.                                                                                                                                                                                                                                                                  

	Receipt
	Amount
	Payment
	Amount

	To opening balance

To Subscription

To sale of Investment

To Sale of old furniture

   (Book value Rs 400)

To Donation
	  2600

14000
  3000
    300
  2500
	By Salaries

By Rent

By Stationery

By Defense Bond

By Furniture purchased (1.1.07)
By balance c/d


	3500

1200

  500

6000

  800

6400

	
	16400
	
	16400


Additional information
a)  Subscription of Rs 4400 is outstanding and Advance for 2008 Rs 1200 as on 31stMarch 2007

                 b) Donation received during the year is for construction of Temple

                 c) Furniture and investment as on 1st April 2006 was Rs 2000 and Rs 4000 respectively

                d) Depreciate furniture @ 10% p.a

14. A,B,&C are partners in a firm sharing profits in the ratio of 2:1:1.There Balance Sheet   as on 31.3.2004 was as under:

	LIABILITIES
	Rs
	ASSETS
	Rs

	Creditors

A’s Capital

B’s Capital

C’s Capital
	50000

80000

80000

60000
	Goodwill

Land and building 

Plant and machinery

Motor car

Debtors

Cash
	30000

80000

56000

54000

48000

  2000

	TOTAL
	270000
	TOTAL
	270000


The firm was dissolved on that date .The assets realized ; Goodwill:Rs20000 ; Land and building:Rs 100000; Plant and machinery :Rs 50000;Motor car: Rs 28000 ;Debtors 50 % of the book value. Realisation expenses were Rs 2000 .Prepare Realisation a/c Capital a/c of partners Cash a/c to close the books of accounts.                                                                                  6


15. Talco issued 25000 equity shares of Rs 100 each at a premium of Rs 15 each payable at Rs 25 on Application, Rs 40 on allotment and balance on the first call.The application were received for 75000 equity shares but company issued to them only 25000 shares. Excess money if any, was refunded to them after adjustment for further calls. Last call on 500 shares was not received and these were forfeited after the notice. These shares were reissued to Karan @ Rs 90 per share fully paid up. Give journal entries in the books of the company.                                                  8
                                                                                     OR

Z Ltd. invited applications for Issuing 40,000 equity shares of Rs. 10 each at a premium of Rs. 2 per share The amount was payable as follows: On Application Rs 6 (including premium) and balance on Allotment. Applications for 50,000 shares were received Pro-rata allotment was made to all applicants Excess money received on application was adjusted towards sums due on allotment.
A shareholder to whom 8,000 shares were allotted failed to pay the allotment money and therefore, his shares was forfeited. Later on 6000 of the forfeited shares were re-issued for Rs. 50,000 as fully paid up.
Prepare cash  book and pass necessary journal entries the books of Z Ltd and prepare the balance sheet.   
16. X and Y are partners in a firm sharing profits in the ratio of 3:2. There Balance Sheet as on 31.3.2008 was as follows :                                                                                                   8
	LIABILITIES
	Rs
	ASSETS
	Rs

	Creditors

General Reserve

Bills Payable

Capitals

       X

       Y
	   27,000

   18,000

     5,000

   40,000

   35,000
	Cash

Debtors                   48,000

Less Provision

For bad debts             4,800
Stock

Patents

Building
	   24,000

   43,200

   30,000

     7,400

   20,400

	TOTAL
	1,25,000
	TOTAL
	1,25,000


Z is admitted into the partnership given him 1/5th share in the profits . Z to bring in Rs 30000 as his capital and his share of goodwill in cash subject to the following terms :

(a) Goodwill of the firm to be valued at Rs 50,000.

(b) Stock to be reduced by 10 % and half of this is taken over by X  

(c)  Provision for bad debts be reduced by Rs 2400.

(d) Patents are valueless.
(e) There was a claim against the firm for damages amounting to Rs 2,000.The claim has now been accepted 

(f) The capital of the entire firm is to be fixed as per the capital brought by the new partner Adjustment are made by transferring into current Account.
Prepare Revaluation a/c ; Capital a/c’s of partners ; Balance Sheet of the new firm .   

OR


The Balance Sheet of A, B & C who are partner in a firm sharing profits according to their capitals as on 31st March,2008 was as under 

	Liabilities
	           Rs.
	Assets
	          Rs.

	Creditor 

A’s Capital

B’s Capital

C’s Capital

General Reserve
	21,000

80,000

40,000

40,000

20,000


	Building 

Machinery

Stock

Debtor                                          

                                     Rs.20,000

Less: Provision for B/D Rs.  1,000
Cash at Bank  
	1,00,000

50,000

18,000

19,000

14,000

	
	2,01,000
	
	2,01,000

	
	
	
	


             On that date, B decided to retire from the and was paid for his share in the firm subject to the following :

(a) Building to be appreciated by 20%.

(b) Provision for Bad Debt to be increased to 15% on Debtors.

(c) Machinery to be depreciated by 20%.

(d) Stock is taken over by B at its book value

(e) Goodwill of the firm is valued at Rs.72,000 and the retiring partner’s share is adjusted through the Capital Accounts of remaining partners.

(f) B is to be paid immediately Rs 4000 in cash and balance to be transfer to his loan Account.

(g) The Capital of the new firm be fixed at Rs.1,20,000 in new ratio of A & C which is to be 3:2.
Prepare Revaluation Account, Capital Accounts of the partners and the Balance Sheet after retirement of B.

PART – B     (ANALYSIS OF FINANCIAL STATEMENTS)
17. State whether cash deposited in bank will result in inflow, outflow or no flow of cash.             1
18. How will you treat ‘Interest on Debenture’ while preparing a Cash Flow Statement.                 1

19. Current Liabilities of a Company were Rs 80000 and its current Ratio was 2.5:1.After this it purchased goods for Rs 40000 on credit. Calculate the revised Current Ratio.                            1
20. Give the format of the Balance Sheet of a company (main headings only),as per the requirements of Schedule VI of the companies act 1956.                    
                                                        3
21. Prepare a Comparative Income Statement of  ‘X’ Ltd., with the help of the following information 4
	PARTICULAR
	                               2007(Rs.)
	                                 20088(Rs.)

	Sales 

Cost of Goods Sold 

Indirect Expenses

Rate of Income Tax
	1,00,000

60% of Sales

10% of Gross Profit

50% of net Profit before tax
	2,00,000

70% of Sales

10% of Gross Profit

50% of net Profit before tax         

	
	
	


22. 9% Preference shares of Rs each                                   Rs 500000

Equity Shares of Rs 10 each                                           Rs 800000
12% Debentures                                                             Rs 400000

Additional Information:

Profit after Tax                                                         Rs 270000

Equity Dividend                                                             20%

Market price of Equity Shares                                      Rs 40

Rate of Tax @ 10%

Calculate Price Earning Ratio and Return on Investment.                                                    4
23. Following are Balance Sheet of X ltd. as on 31.3.2007 and 31.3.2008 . Prepare Cash Flow Statement.                                                                                                                              6                                                                                                            

	Liabilities
	31.3.07

( Rs .)
	31.3.08

( Rs .)
	Assets
	31.3.07

( Rs .)
	31.3.08

( Rs .)

	Equity Share Capital

P & L  A/C

12 % Debentures

Bills Payable

Bank Overdraft


	200000

110000

120000

20000

3000


	312000

155800

150000

  31000

    1200


	Furniture

Machinery

Bills receivable

Stock In Trade

Short Term Investment

Bank 

Preliminary Exp.


	110000

113000

  62900

125000

  10200

  27400

    4500
	130000

110000

  63100

141000

    5900

198000

    2000



	TOTAL
	453000
	650000
	TOTAL
	453000
	650000


   Additional Information:  

a) Dividend paid during the year Rs12000

b) Depreciation charged on machinery Rs 20000

c) Interest received from investment Rs 1000
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